20248 =0ila LESIH WISt

H & 0l & AHS B Ml A

M HZRAZHI(HSH)
el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M=t 18,710,467 22,668,006 A3,957,539
Jl 652,988
== 405,071
Al 17,652,408
HY2LAHI(H=S) 22,434 23,224 ATD0
=3l 22,434 23,224 AT0
Jl=23H] 22,434 23,224 AT
201 et23| 7,914 7,704 210
01 AtR2t2|HI 7,914 7,704 210
OJl2 ARE38I 30,0002 %37 1,110
OgRFa A=Y 20,000& 53 100
OA2d 22 24l 80,0002 12042 960
OAare =&l 60,0003 * 12043 720
Otl2+=E 10,0002 x55* 1200 & 600
Oo=gtl(3s) 8,0003 5534 4,424
202 04 6,120 7,120 21,000
01 =LHOLI 6.120 7,120 21,000
O=U0HI(33) 20,0003 x306H 6.120
203 HR=H] 7,200 7,200
M EA2ER=A 7,200 7,200
ORNEgE =AY 7,200
=] 250,000& 12043 3,000
—s0ts 350,000 * 12042 4,200
204 MPo=HAH| 1,200 1,200
01 MG HP=HAHH| 1,200 1,200
ouns 100,000 * 1294 & 1,200
H=&E X3 5,038,799 4,927,029 11,770
Jl 652,988
= 105,071
Al 4,280,740
M= X& 30,540 70,340 A39,800
M= X2 30,540 70,340 /39,800
201 er2 3| 19,940 9,940 10,000
01 AtR2te|HI 19,940 9,940 10,000
OHMSEAL =2 & E22 WA (S, &
2 S) 3,000,000 %14 3,000
OM=HH AL WS WH M S
600,000& *14] 600
OMELEE 2
8,0003x8L 120 2 +5& 3,840
O&ZU3l. AI=UE F&
12,500,000 * 14 12,500
202 04| 9,600 9,400 200




A MY
s TS N
el M= X2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 2LHoIH 9,600 9,400 200
OMEsds g2 =&
20, 00024 %78| x5 122 8,400
ONSZE Y2 =A(2LA)
20,0002 x5 x 1+ 1204 1,200
203 =] 1,000 1,000
03 A=A 2= 1,000 1,000
O&=U2l FX & =HIAE &2 2
1,000,000 14| 1,000
ZH=s =4 3,002,675 3,110,960 108,285
= 30,000
Al 2,972,675
HEMSE 238 N2 446,203 424,700 21,503
307 gl2to| & 446,203 424,700 21,503
02 QIZHEAAEE X 307,500 307,500 0
OZ Al HM=F2l & A XI1&
5,000,000& *12] 5,000
Od=Us wxgsHl K&
5,000,000 * 14 5,000
ONie3al detd=rd=Uzl &t K&
270,000,000 x13] 270,000
ORMI53el 8=4AHME &8 d+H Xd
5,000,000& *12] 5,000
OHMI052 &=M=U3 28 d=H N2
7,500,000 12} 7,500
O&=ME & AEHAE d+E A
7,500,000 *12] 7,500
OEIHME It KBS XA (4855)
1,500,0002 %12 1,500
OM=gs N 6,000,000 * 14 6,000
03 2IIHHEE2SHIEx 138,703 117,200 21,503
OZ A= gd=gH| 138,703
—AIR=2F 2| (6285 ) 33,000
=0 2,500,000« 1E*120HE 30,000
FE S| 2,500,000 x60%*22] 3,000
—H2HS AAHI(ARUE)(728783) 37,650
=0 2,561,300 1+ 1204 & 30,736
YEZOHI 2,561,300 «60%*22] 3,074
Ag2X2d| 180,000 x1H 120 & 2,160
=l 140,000« 1E = 1200 = 1,680
—MEHF IAHI(ARUE) (7258 S) 34,853
=0 2,349,400&x 18120 2 28,193
YEZOHI 2,349,400 «60%*22] 2,820
g2 x| 180,000« 1= 1204 = 2,160
=l 140,000« 1= 1204 = 1,680




A MY
s TS X
el dENE |4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—HS2 g2 g L
13,200,000 1CH 13,200
—zzea, A0E, 22 =
20,000,000& * 14! 20,000
StEsSE ANE 333,670 367,800 A34,130
301 22N 21,250 25,000 A3,750
14 JIEt2 8= 21,250 25,000 A3,750
O DHSAL NEE X#
25,0002 »8502] 21,250
307 elztol & 39,000 39,000
02 2B YA E X 39,000 39,000
Ot uHsEd 2t53 200,000& %102 2,000
O=R=8tu 2% dit= 5,000
—x&1ssl 500,000& %108 5,000
OH% 22 B 0t ¥ 2021 S
200,000& *102] 2,000
OdgMd It &+t 28| X3
24,000,000 *14] 24,000
Ostn2s: BLR(Hd=) d1ut= 6,000
—ZSsu d= 100,000 14 1,400
-5, 1SSt 8= 200,000& 23S 4,600
308 AHXIEMSOIE 273,420 303,800 /30,380
08 W20t etEx 273,420 303,800 /30,380
Ozx&8d 27 A& 161,100,000& 161,100
OM=XE=A 20 X 112,320,000 112,320
PR =4 1,539,802 1,387,460 152,342
301 22N = 1,539,802 1,387,460 152,342
Rzt - 2SFS2EHs 1,539,802 1,387,460 152,342
OJles 718,800
—&=,2% 4,683,0003 x4 = 1204 2 224,784
—&= 2,573,000 x16E* 1204 & 494,016
og2+¢ 46,080,000 46,080
OtE+¢ 4,800
— <At 40,0002 x58 12042 2,400
—JIEDIE 20,0002 x 10 =122 2,400
OE &=l 71,870,000 71,870
OSscl=4t] 185,400
— 82X 187,500& x20E 1201 2 45,000
—gAZAHI 585,000 20 = 1201 2 140,400
o428 2= 129,372
—=sSEEE 4,320,000 1204 & 51,840
—dAEE= 3,821,000 1204 & 45,852
—UE2EEs 1,680,000 « 1200 = 20,160




2A:

=t

o YRS XY
gelr JENS |4 (Ete &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
—dEEs 960,000 * 1201 2 11,520
O& &= 15,000,000 *3& 45,000
oaJlgEgy =& 55,200
—AS 300,000 x6E* 129 & 21,600
—B, C= 200,000 x14E 1200 = 33,600
Osesg 57,600
—2s, BF, CNF H4
200,000 x4+ 12042 9,600
— 250,000 x16E * 1204 & 48,000
O=IttE € g4 32,400
—2OIHE 42
300,000 x4 1201 & 14,400
—He =g 300,000 x6H+ 1001 2 18,000
Ot 2elH(H=0a P4
15,000,000 * 14! 15,000
ORaH4 FUtl(A7 &)
30,000,000& »14] 30,000
OUi=l &Il 500,000 *82 4,000
Otial o4 30,000,000& 30,000
O&Xl=atl 19,040,000 * 14| 19,040
OLul=H| 19,000
—Edolds 200,000 * 19 %23} 7,600
—=LS 100,000 x 19 *23] 3,800
—Arg 200,000 *19E <22 7,600
OZHIFLHI(S4R)
300,000 7 H+35 6,300
OZbI7Yu(2E2)
330,000 7 H+65 13,860
O=d, 228 =4 294l
360,000 x3S* 12042 12,960
Ost=4 T4 AU Y|
3,000,000 14| 3,000
Ost=d =g AW
3,000,000 %14 3,000
Osgds 28 gz
2,100& %1002/ 6E * 1204 156,120
Oxtg XI& 916,660 x2CH* 1291 2 22,000
X8 =il & X 88,000 88,000 0
201 er=23| 3,000 3,000
01 At2teltl 3,000 3,000
OdXl2d8 =Xl S22 M
6,000 *500= 3,000
307 21201 & 85,000 85,000
02 QB HANEER 85,000 85,000
OdXl=&g K& 30,000,000 *14! 30,000




S NS
= YBTE Y
el MRS SA (cHol: 22)
2 s IE]
SN - HE - S9I(E) - MIRAY - BAS of & e HIDS2
| 0222210 H3 55,000,00024 % 14! 55,000
20, ®2e9l 3l 517,000 562,000 245,000
& 30,000
Al 487,000
307 gI2Hol ™ 517,000 562,000 A45,000
& 30,000
Al 487,000
02 QIZHBAAIHE X 335,000 385,000 A50,000
OM253 2| A NSstw E20H3
200,000,000& *12l 200,000
= 10,000
Al 190,000
ONI225] ZSAIZH ®2 BHILIANS
25,000,000&*13] 25,000
OM3 HE2)| B2 223
110,000,000& 12| 110,000
= 10,000
Al 100,000
04 QIZHHAIAI R 182,000 177,000 5,000
OM133l VBC £Z2 B2 Oi2HE0HS
40,000,000& *13l 40,000
OM198] ZAAIED| B2 2E0H3]
42,000,000 *13] 42,000
ONI175] B2 AD| B2 L Y7043
40,000,000&*12] 40,000
= 5,000
Al 35,000
O 143] AT SAE B2 22473
60,000,000& *13l 60,000
= 5,000
Al 55,000
ANESHR THE) 78,000 281,000 A203,000
307 2I2+0l ™ 78,000 281,000 A203,000
02 QIRHEAAIHEE X 78,000 281,000 A203,000
ON223| ZLAIRI| 2203
8,000,0002+13] 8,000
OHI185] ZLAIZIIb BISTHE!
8,000,000&*13] 8,000
OHMI63] Z2AAIFEBE AZEHILIALHS
8,000,000& x13l 8,000
OM143] ZLAIEI| ZE0H3)
8,000,0002+13] 8,000
OHI125] BLAIZI| EBAZ 3
8,000,000&*13] 8,000
ORI18l ZAIZI| WSS
5,000,000& *13l 5,000




~

=

13

2A: MsH
M MsE XN
el dENE |4 EER
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Os=24 Us NAIsSs)
13,000,000& *13] 13,000
OLHE XSHA 5,000,000&*13] 5,000
OHM213] 22t MEHOI 13
15,000,000 %13 15,000
MEHs =4 1,514,800 1,333,604 181,196
| 535,248
= 65,904
Al 913,648
MEHs 2sHl X3 159,000 186,000 A27,000
201 B2 AL| 3,000 12,000 A9,000
01 ArR22ltl 3,000 3,000 0
OMEXIS SAEH 7Y U 42|
3,000,000 14 3,000
307 212+01 A 156,000 174,000 A 18,000
02 QIRHHAAIHE X 156,000 174,000 A 18,000
OUEHM=SI3CH K&
60,000,000& * 14! 60,000
OMNEMSXEI MES B3 WA
3,500,000 14 3,500
Ouei=sedst XI&
9,000,000 *14] 9,000
O%E0l E7Y 2
7,000,000 14 7,000
Ougil=s gs NI&d 3,000,000 14! 3,000
OAHgol XMswa 9,000,000 * 14 9,000
(OF=ENS b E=ImES 5,500,000& * 14! 5,500
O MEHSH I 4,000,000 14 4,000
O&==HM=sls 9,000,000 14 9,000
Odasns 29 20,000,000 14! 20,000
Ougis2d 29 N&
14,000,0003 14! 14,000
OAlLI Maxsedst XA
2,000,000 14 2,000
OMZESY HE DA 2YX
10,000,000 14 10,000
METK XIS AE B XIAFS 233,800 231,302 2,498
| 2,064
Al 141,736
307 212+01 A 233,800 231,302 2,498
| 2,064
Al 141,736
02 QIRHEAAIHE X 233,800 231,302 2,498
OMEMSRIE A BHXIAN (5H)
3,266,660 5B+ 1200 & 196,000




2A:
X XH -
o e

=aak

=t
H=sds XN
HEH= =4

g sS4 CER-E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| 76,720
Al 119,280
ORAE MEHSTIEI BHXIA(12)
3,150,000« 1+ 1201 = 37,800
J| 15,344
Al 22,456
MEHS R A XA 7,200 0 7,200
= 2,880
Al 4,320
307 212+01 A 7,200 0 7,200
= 2,880
Al 4,320
02 QIZtAAAIEER 7,200 0 7,200
OMEMSXN =X M2
100,000 *5ZH 12042 6,000
& 2,400
Al 3,600
ORa2E MBS HLINAL
100,0002 x 1 x 1201 & 1,200
= 480
Al 720
HEMMESXIE X HIXIAS 228,800 231,302 22,502
| R,064
Al 136,736
307 212+01™ 228,800 231,302 A2,502
J| R,064
Al 136,736
02 QIZHA A AL E X 228,800 231,302 2,502
OSUES X=Xt BHXIAFE (6H)
3,177, 7773 +6B 1200 & 228,800
| 2,064
Al 136,736
HEddY MEXSX S HRIMAH] 7,200 0 7,200
& 2,880
Al 4,320
307 212+01™ 7,200 0 7,200
& 2,880
Al 4,320
02 QIZHAAAIHE X 7,200 0 7,200
OHz2aNY MEHSX X HIHEH]
100,0002 x6H * 1201 2 7,200
= 2,880
Al 4,320
AXXOIEH(HIRH) At 501,600 364,800 136,800




2A: MsH
o YRS XY
el MENS |4 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
| 351,120
= 45,144
Al 105,336
301 LB F 501,600 364,800 136,800
| 351,120
& 45,144
Al 105,336
01 A BEAHZ(RRNEETR) 501,600 364,800 136,800
OAZ=ZH0ISE KA
100,000 *418F + 1200 & 501,600
| 351,120
& 45,144
Al 105,336
ARXZY 29 52,400 47,400 5,000
307 gI2Hol 52,400 47,400 5,000
02 QIZHAAAIHE X 52,400 47,400 5,000
OF3AZ=ZY 2L (SIAEXZAY)
32,400,000 3 * 14 32,400
O BBAX=ZY 2 (2T X
Ared) 20,000,000 3 14! 20,000
MeE= iz X 165,500 143,500 22,000
307 QI2tol ™ 165,500 143,500 22,000
02 QItBAAIH E X 165,500 143,500 22,000
OHMIM02l 22AIEH M= Odct2ES 23
15,000,000 %13 15,000
OHMI193] Z2AIEI| HOIESUHS
5,000,000& *13] 5,000
OMI8S ZAAIEH =HU3
5,000,000 *13] 5,000
OHM213] Z22AIRD| M= BHEIE WS
13,000,000 %13 13,000
OHMI23s] Z2AAIED| 52U
8,000,000& x12l 8,000
OHM223] Z22AIEI| ZRUE
8,000,000 *13] 8,000
OMI103] Z2FAIZHH Et2THE
8,000,000& *13] 8,000
OHMI5al Z2AIEH MEZAUS
5,000,000& *13] 5,000
OHM2g| Z2AIZH 3203
8,000,000 *13] 8,000
OMI132] H2AIQE 2/FI| BI-2U3
8,000,000& *13] 8,000
ON143 24t |2 =HE H2 St
11,000,000 12l 11,000
OHM9gl =24l AZME HES0HE
17,000,000& *13] 17,000




2A:

=t

M MsE XN
Cel: MENE |4 EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
OFSSEA TIAIZ HOIEZUHE
6,000,000 *13] 6,000
OHMI7al ME=s Of=ssol ¢seld
8,000,000& *13] 8,000
OHmI27al 0elol ¥ M43 HAE ZAUS
6,000,000& *13l 6,000
ORNI233| ZHAAIHOIEZ HIIES
2,500,000 13| 2,500
OHM9g| Z2Al OH2EEE=30! ZH
3 3,000,000 *13| 3,000
OHMI63l =0 US|
3,000,000 *12] 3,000
OHMIBal 22 HARIH M= HAAILX(HS
15,000,000& *13] 15,000
ONI3al Z2AAIEAE 3018 s72U3
3,000,000 *12| 3,000
OMNE| ZAAIEE SAHHE
8,000,000& *13l 8,000
MEHS 2t X 129,300 129,300
307 212+01 A 129,300 129,300
02 QIZtAAAIEE R 129,300 129,300
Od= dENSUHSH &t
3,000,000 *12] 3,000
ON273l s (&Y ots) MEMSE0S
SH A& 7,000,000& *13] 7,000
OHMI3p6s MetdEMEMFUHFA &t
70,000,000& *13] 70,000
ON193 dMetdE 2L MEHSUS &t
15,000,000& *13l 15,000
OHN6zl golioted=a OHATZ MEMSWS
SHAL KI& 10,000,000 %13 10,000
Oolsgu M=NE& detgddgiisl &
It 8,800,000& x13l 8,800
ON203 &etdSRIAD|I 703 &t
3,500,000 *13] 3,500
ONZRel detdTRIAD| HOIE=USl &t
2,000,000&*12] 2,000
OHm2al =&, 0=, 22 7ol MEHS WF
AL EOt 10,000,000&*13] 10,000
HYAMAE= ISTZ )M (MEAIY) 30,000 0 30,000
& 15,000
Al 15,000
307 gI2Hol ™ 30,000 0 30,000
= 15,000
Al 15,000
02 QIZHA A AL E X 30,000 0 30,000
Ol A MNAZ=(JASHENE LA 2H
30,000,000 13 30,000




2A:

=t

o YRS XY
ool dEHs =4 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 15,000
Al 15,000
o= =S4 490,784 412,125 78,659
Jl 117,740
< 9,167
Al 363,877
Jofeid=sgs N 85,264 78,000 7,264
307 lztol & 85,264 78,000 7,264
02 2B YA HE L 8,000 8,000 0
OFoR! Z2 HMIUS &It N
8,000,000& *14] 8,000
03 PIZAHHEE 22X 77,264 70,000 7,264
OZ Al ZoieIM=s 23| 77,264
—QIAHI(MR=2H) (6295 3) 38,973
=0 2,952,500« 18+ 1204 35,430
dE+g 2,952, 5003 x60%*1H <23 3,543
—QIAHI(MREH) (7255 8) 33,491
=0 2,246,2003 ~1E 1204 26,955
dE=E 2,246, 2002 x60+ 1 H *22] 2,6%
S E2XH| 180,0003 1= 1204 2 2,160
=&l 140,0003 1= 1204 2 1,680
—2gH(ARE MUEF=E S)
200,000 * 128 2,400
—YRE X gt
200,000& x 123 »1CH 2,400
ZOoHe! MEMSXI A BHXIAH 150,200 161,405 1,206
Jl 61,376
Al 88,824
307 el2to| & 150,200 151,406 1,206
) 61,376
Al 88,824
02 QB HANEE R 150,200 161,405 1,206
OHOHQ! HEHSXI X BHXIALS (49)
3,129,160 x4 H 1204 2 150,200
Jl 61,376
Al 88,824
0 MEMSXEX ML 4,800 0 4,800
= 1,920
Al 2,880
307 el2to| & 4,800 0 4,800
= 1,920
Al 2,880
02 QIHEHAIEE X 4,800 0 4,800




2A:

=t

M HEd=E XA
e Aol KE B4 (SH &)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OO METISAC A XS (42)
100,000 »4H = 1200 & 4,800
& 1,920
Al 2,880
SOHQl AZRUX0IEH KA 80,520 54,720 25,800
J| 56,364
& 7,247
Al 16,909
301 LEtEX 2 80,520 54,720 25,800
J| 56,364
& 7,247
Al 16,909
01 AIBI 2 & & LG 2(2DEXTHEH) 80,520 54,720 25,800
OFOMel AZ=2AX0|ISH KA
110,0002+61H = 1201 & 80,520
J| 56,364
= 7,247
Al 16,909
CHaloH=l & &I 170,000 128,000 42,000
307 21Z2H0| & 170,000 128,000 42,000
02 QI AMAIGEE X 170,000 128,000 42,000
OZAFAl HOHCIM=CHSE] IHE
15,000,000& *13] 15,000
OHUAl MEH S 20O HHIESIEHS JH
S| 5,000,000&*13] 5,000
Ofetd= AIAHEOC! MASZUE A
10,000,000& *13] 10,000
OHMI32E MetdE HOoHIM=UE &t
85,000,000& *13] 85,000
ONeted: =0IId=UE &t
10,000,000& *13] 10,000
OHEete= AZEOHCIMFUE =0t
10,000,000& *13] 10,000
O2023¢ Mt e oI MEN =S &t
25,000,000& *13] 25,000
O3MAN(Z 4, =) MEHs nEH &
It 10,000,000& *13] 10,000
HEAE 25 7,396,440 12,833,720 N5,437,280
= 300,000
Al 7,096,440
=M AA 4,934,280 8,858,720 N3,924 440
ATX Zel0|YAIE EXIZSAHEEAIY) 2,500,000 4,250,000 A 1,750,000
401 AlEH|IZL L2 C0HY] 2,500,000 4,250,000 A 1,750,000
01 Al&HI 2,350,000 4,250,000 A 1,900,000




2A:

=t

M WAL &S
Cel: MEMSAIL EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OAR= SctOlUE EXISA
2,350,000,000& * 14 2,350,000
02 Zaltl 150,000 0 150,000
OAZ= Z2I0IYdIE EXIZA (Zeltl)
150,000,000 * 14! 150,000
FUSH SE AEXEER Id AY 2,327,560 2,002,000 325,560
401 AIEHIZ R 0HYI 2,327,560 2,002,000 325,560
01 Al&HI 2,320,000 2,000,000 320,000
OZLSH SEALXER2 4 A 2,320,000
—S2 X0 sl 2,100,000,000& x 14 2,100,000
—TAIHEAEZE(BEE) 29I
200,000,000 x 14 200,000
—Eted A ESHI
20,000,000 * 14! 20,000
03 Al 20HHI 7,560 2,000 5,560
OAIE20HbI 7,560,000 * 14 7,560
22 IUMSFUE HES SA 100,000 100,000
401 A& HIX R0 100,000 100,000
01 AlZH| 100,000 100,000
OZg IUMSHE W2+ SA
100,000,000 * 14 100,000
H=Al4 2el || 6,720 6,720
201 2= 5,720 5,720
01 At22t2lt] 5,720 5,720
OMS=AIEE sl 8,000 »4004] 3,200
OABAEEDE SET HE
150,000& %102 1,500
OSAI=NZE BN 2 1,020
—2Iiye IS8
20,0002« 124 235 720
—d435d 2 100,000& *3H 15 300
202 04l 1,000 1,000
01 =LHA LI 1,000 1,000
OMSEAE =4 ddXAe S
1,000,000 %14 1,000
HEHFAIE 2,462,160 3,975,000 1,512,840
== 300,000
Al 2,162,160
SUNFHE SESA 920,000 0 920,000
401 Al HIZL S 0HYI 920,000 920,000
01 Al&HI 910,000 910,000
O=CNSHE SFEIA
910,000,000& x14] 910,000
02 Zeltl 10,000 0 10,000




M S
M HsSAME &5

Sl METHSAL EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
O=2HMSHEH SF3AF (Z2lHl)
10,000,000& * 14 10,000
SRd =2 xdA EAL) 700,000 700,000
401 AIEHIX R0 700,000 700,000
01 A28l 697,000 697,000
OS2 IAZTE T4 Al
697,000,000 697,000
03 AlE220HHI 3,000 0 3,000
OAIZ20HbI 3,000,000 3,000
&% EX 3=y ¥ 2 xd A 120,000 120,000
401 Al HIZ 2018 120,000 120,000
01 Al&HI 120,000 120,000
O8&Z =X =2 BH2AAE ZEAHY 120,000
—EXI0H 120,000,000 *14] 120,000
SEMIASEE FIt L M (HEAY) 302,160 0 302,160
< 300,000
Al 2,160
401 Al HIZL S 0HYI 302,160 0 302,160
& 300,000
Al 2,160
01 A&t 300,000 0 300,000
OSd IABTF £J} X4 Al
300,000,000 * 14 300,000
= 300,000
03 Al 20HHI 2,160 0 2,160
OSd Ia=2d It &d At
2,160,000 %14 2,160
HEHSAE B 220,000 775,000 /555,000
401 AIEHIX R0 220,000 775,000 /555,000
01 A28l 220,000 775,000 555,000
OOIS QIRIIAIOIEY STF tie242
Ab &8I 20,000,000& *14! 20,000
OZds U533 & Y 2= SA
50,000,000 * 14 50,000
OUts HILIAZ &8 He At
50,000,000 x 14 50,000
O&d de2tes= e At
100,000,000 * 14! 100,000
SUIHMSAE &X 200,000 200,000
401 Al HIZL 201 200,000 200,000
01 Al&H| 200,000 200,000
OsSUIMSAIE (M= 7 S) X ¥ 8
= (SHS 40044) 200,000,000 » 14 200,000
HEAE 29 6,252,794 4,884,033 1,368,761




2A: MsH
M MsSAE 29
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